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SA Al AtE
B NRE7AL B
Chel: T (A - St AIESESIH) (9 ®2
A BB O(B) - NEAY - BAS Of o e Hl R =2
Q)M TRHAE0IIE B LM
1,000& 5000+ = 500
2)2CIEEXMEEXN LY 10,5002 «50A 525
Q)+ E2EZEEINMME (EHEALE)
4,000& *150% 600
Q)4 +E 2L S AL =]
100,000& *15=+20H 2,000
DAESABBINSAAS B ST
70,0003 x5H »23| 700
N2 (K&, 26l ) LAl 35,0002 »2H 115 8,050
1)32 (5= 2l4) LA 40,0003 x5% 115 23,000
N4z (132 213) LAYl 45,0003 *4H » 115 20,700
152 (E4H) LAY 50,0003 *1H *115 5,750
1)22 (X &, 2ol ) =&l 35,0003 »2H 365 25,550
N32 (B 24) =3l 40,0003 x5 x365 73,000
4= (H12213) =3l 45,0003 x4 x365 65,700
N5 (E4H) =AY 50,0003 1% »365 18,250
NEZIO =Y 100, 000& »20H 2,000
Na==EZ U0 AY| 7,000 x4 »120 3,360
02 2223H| 212,906 212,905 1
Nax=E&sIE2 5,2003 1100 &+ 12 687
NaxCHIIsSs 2 50,0002 * 1100 & =12 6,600
Nax+=E298I|2 5,733,340 x 128 68,801
&GS JI=otd TEH
50,000, 0002 *1JH £ 50,000
Na=E 22 AIH 2|
2,8003 *x18A1 2t* 1100 %120 66,528
NS 22 AR A 22l
10,000 *99m" 1= 111 2 10,890
N&EJtE 2B =2
150, 000 *4H 2123 7,200
Na=E2AMNERTIZSHE
200,000 * 111 213l 2,200
202 (4| 4,550 4,550 0
01 =LA LI 4,550 4,550 0
N&A=E2FI)=wW=S0El 350,000 «1F+13H 4,550
401 A &HIZL 2048 100,000 100,000 0
01 Al&HI 100,000 100,000 0
NE=& gL SHEI X
100,000, 000& *1JH &~ 100,000
Aot 22 2 130,670 131,100 A430
101 Q14| 32,000 32,000 0
04 JIZtHIZ22HSE* 32,000 32,000 0
Naot=EHE 50,0003 x5 x128 32,000
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SN ASDIAY S
M NAT AL B
SRl ASE 2Y(H - SIS ARSEEIH) (25l &2
_ _ _ Muo
SA-EFH - SA(SAH) - MREAY - BES Off &F K Ofl At ot Hws2
201 Yer2 YY) 93,490 93,490 0
01 A2l 28, 170 28,170 0
DEEES=1 25,650
AP Inbyp et
25021 +6,9700H * 122 20,910
2)2ZDNNLEZSEH =]
302147, 00004 * 128 2,520
2)EHItERIX 400,000 +32*1CH 1,200
2)2etE LI ERIT| 44,0002 +32 * 14 132
2)%2lt| 200,0002! *32 *1CH 600
2)CIA3 7Y 2,0002! *120H 123 288
NAGI+E23 2 DY S0
7,0002! %38 ¥1202 2,520
2 ZZ2YH) 65,320 65,320 0
NAB+E22DANSHE
2502 x23,24821 %103 58, 120
NABl4Z I T2 AT 24|
600, 00021 * 122 174 2 7,200
202 Oft| 5,180 5,610 £430
01 2Uioibl 5,180 5,610 A430
DEER=E I EET
70,0002 +2 x3724 5,180
BoNLE 29 335,800 335,800 0
206 T2 335,800 335,800 0
01 HEb| 335,800 335,800 0
NYESUBANLELE223
400212, 300 *3652! 335,800
ALTAEE FNB2 (4 SHEEARSEEIH) 720,650 721,243 A593
N4T NEE B2 559,713 560,027 A314
101 2121t 48,083 48,083 0
04 JIAH2EZXES4 48,083 48,033 0
1) 01 AR bl 31,929, 0002 31,929
DEEX-=ETH 61,0002 117 4 122 24 16,104
201 Yer2 Yyl 150,000 150,000 0
02 ITZ2Y| 150,000 150,000 0
DLIESNIE-PONE-PS=1
6,000, 00021 *107H 4 23] 120,000
NASEIEAHHNCIISE
3,000, 00024 *6H 2 18,000
NRTH 2F 248 1,000, 0002 1274 4 12,000
202 Oft| 3,780 4,094 ~314
01 =2Uioibl 3,780 4,094 A314
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TR AT AEE FA22 (A - ST AMSSESIAH) (e E2
B . M. CHe (5 NEAS . T2 Al OH HEE Hl =2+
N&a=CAE2E 20| 70,000& x2H 27 3,780
206 M= Hl 50,900 50,900 0
01 MH=z=Hl 50,900 50,900 0
NeEFAR 3,000, 000& 64 2~ 18,000
NaExI2¢ 3,000& *2,00074 6,000
NS08 7 26,000 *400JH 10,400
NHY=ANE 2HS 2
500, 0002 *3CH*11JH & 16,500
401 AIEHIZ 2 307,000 307,000 0
01 Al&HI 307,000 307,000 0
NHUMESKH 2L 27,800,000 *5JH &~ 139,000
NHYHSE L IHAEES
1,000,000 *4CH* 1004 2 40,000
NANEES(ES, HMIIHAHS)
1,000,000 4824 48,000
XA =Z 0 AE I LA S A
8,000,000 *107H & 80,000
MdrE S S27 160,937 161,216 A279
202 O4dl 3,360 3,639 A279
01 =LA b 3,360 3,639 AN279
NeEnHLdsS=s2S X
70,0003 +x3H +16 3,360
206 M=l 22,577 22,577 0
01 MH=Z=Hl 22,577 22,577 0
DALERSIHLREDY
225, 7703 %105+ 1000 & 22,577
401 AIEHIZ 2O 135,000 135,000 0
01 Al&HI 135,000 135,000 0
NE+EEEYC LRSI
105, 0002 *100m* 1094 4 105,000
NSEHEXL WA 2,500,000 *2IH *6IH A~ 30,000




